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Geometry

Angle Relationships: The Basics 

Name___________________________________

Hour____
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Directions: For all problems, you need to show all work and  justify your set up. If Geometry is
given, you will need to show the geometrical SET UP to the question. 
 
Find the measure of angle b.

1)  

40°
b

2)  

34° b

Find the value of x.

3)  

27°

(3 + 6x)°

4)  

(3x + 6)°

4x°
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Find the measure of angle b.

5)  

60°
b

Find the value of x.

6)  

81° (6x + 3)°

7)  

154°

(x - 4)°

Find the measure of angle b.

8)  

30°
b
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Find the value of x.

9)  

67° (2x + 1)°

10)  

63°
3x°

11)  Find CUVm  if TUVm  = 165°
and TUCm  = 97°.
 

V

C

T

U

12)  RJKm  = 4x + 8, IJKm  = 14x - 1, 
and IJRm  = 111°.  Find x.
 

K

R

I

J

13)  Find FKLm  if JKLm  = 129°, 
JKFm  = x + 79, and FKLm  = 58 + x.

 

L
F

J K
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Each figure shows a triangle with one of its angle bisectors. Show all work, your Geometry and
justify your SET UP! 

14)  Find 1m  if 2m  = 26°.
 
D E

F

P

1
2

15)  Find 1m  if 2m  = 38°.
 

U

V

W

P

1
2

16)  Find 1m  if SQRm  = 60°.
 
Q R

S

P

1
2

17)  1m  = 5x - 2 and TRSm  = 8x + 6.
Find x.
 

R

ST P

1 2

18)  Find x if 1m  = 7x - 4 and 
GEFm  = 11x + 4.

 
E

FG P

1 2

19)  1m  = 8x - 3 and DBCm  = 14x + 6.
Find 2m .
 

B

C

D

P

1
2


